

Toyama Math. J.
Vol. 35(2012), 35–48

Order relations among some interpolating families of means

Noboru NAKAMURA

Abstract. Some interpolating families of means of two positive numbers with a parameter are studied. They are concerned with some of the most familiar means, i.e., the arithmetic, geometric, harmonic, logarithmic means and so on. Their monotonicity with respect to the parameter and the order relations among them are discussed.

1. Introduction

Together with the most familiar means, the arithmetic, geometric, harmonic means, the logarithmic mean $L(a, b)$ for two positive numbers a and b is well-known, and is defined by

$$L(a, b) = \frac{b - a}{\ln b - \ln a} \quad (a \neq b), \quad L(a, a) = a.$$

It can be seen that

$$\frac{1}{L(a, b)} = \int_0^\infty \frac{dt}{(t + a)(t + b)}. \quad (1.1)$$

The arithmetic-geometric mean $AG(a, b)$ of Gauss is well-known and it is defined as follows: the two sequences $\{a_n\}$ and $\{b_n\}$ defined inductively as $a_0 = a, b_0 = b, a_{n+1} = \frac{a_n + b_n}{2}, b_{n+1} = \sqrt{a_n b_n}$ have a common limit

$$AG(a, b) := \lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} b_n. \quad (1.2)$$

2000 *Mathematics Subject Classification.* 26D07, 26E60, 47A63, 47A64.

Key words and phrases. arithmetic-geometric mean, logarithmic mean, power mean.

By an ingenious calculation due to Gauss, (1.2) can be seen that

$$\frac{1}{AG(a, b)} = \frac{2}{\pi} \int_0^\infty \frac{dt}{\sqrt{(t^2 + a^2)(t^2 + b^2)}}. \quad (1.3)$$

A family of means $M_p(a, b)$ with a parameter p was introduced by R. Bhatia and R.-C. Li [3] as follows, noticing the similarity between the above expressions (1.1) and (1.3):

$$\frac{1}{M_p(a, b)} := c_p \int_0^\infty \frac{dt}{\{(t^p + a^p)(t^p + b^p)\}^{1/p}}, \quad 0 < p < \infty, \quad (1.4)$$

where the constant c_p , depending on p , will be chosen to have $M_p(a, a) = a$. Thus

$$\frac{1}{c_p} = a \int_0^\infty \frac{dt}{(t^p + a^p)^{2/p}} = \int_0^\infty \frac{ds}{(s^p + 1)^{2/p}}.$$

Here a (*symmetric*) *mean* $m(a, b)$ for $a, b > 0$ is defined as a function satisfying the following properties:

- (i) $\min\{a, b\} \leq m(a, b) \leq \max\{a, b\}$ (In particular, $m(a, a) = a$);
- (ii) $m(a, b) = m(b, a)$ (*Symmetry*);
- (iii) $m(\alpha a, \alpha b) = \alpha m(a, b)$ for all $\alpha > 0$ (*Homogeneity*);
- (iv) $m(a, b)$ is non-decreasing in a and b .

It is easy to see that the familiar means stated before and $M_p(a, b)$ satisfy the properties (i)-(iv).

Now for other families of means, first, the power difference mean $K_p(a, b)$ is defined for any real number p and two positive numbers a and b as follows ([3],[9]):

$$K_p(a, b) := \frac{p-1}{p} \frac{a^p - b^p}{a^{p-1} - b^{p-1}} \quad (a \neq b), \quad p \neq 0, 1.$$

As for particular cases, $K_p(a, a) = a$ (for any p) and for $p = 0, 1$

$$K_0(a, b) := \lim_{p \rightarrow 0} K_p(a, b) = ab \frac{\ln b - \ln a}{b - a}, \quad K_1(a, b) := \lim_{p \rightarrow 1} K_p(a, b) = L(a, b).$$

This mean admits the following integral expression ([3]):

$$\frac{1}{K_p(a, b)} = \int_0^1 \frac{dt}{\{(1-t)a^p + tb^p\}^{1/p}} \quad (p \neq 0).$$

Besides, $K_{p+1}(a, b)$ can be defined directly as an integral form as follows ([9], [5]):

$$K_{p+1}(a, b) := \int_0^1 \{(1-t)a^p + tb^p\}^{1/p} dt = \frac{p}{p+1} \frac{a^{p+1} - b^{p+1}}{a^p - b^p}.$$

The power logarithmic mean $D_p(a, b)$ and the power binomial mean $N_p(a, b)$ for $-\infty < p < \infty$ and two positive numbers a and b , are defined as follows, respectively ([9]),

$$D_p(a, b) := \left(\int_0^1 \{(1-t)a + tb\}^p dt \right)^{1/p} = \left(\frac{b^{p+1} - a^{p+1}}{(p+1)(b-a)} \right)^{1/p} \\ (a \neq b, p \neq -1, 0), \\ D_p(a, a) = a, \quad D_{-1} = L(a, b), \quad D_0(a, b) = \frac{1}{e} (a^a b^{-b})^{1/(a-b)} \quad (a \neq b),$$

and

$$N_p(a, b) := \left(\int_0^1 \{(1-t)a^p + tb^p\} dt \right)^{1/p} = \left(\frac{a^p + b^p}{2} \right)^{1/p} \quad (p \neq 0), \\ N_0(a, b) = \sqrt{ab}.$$

It is obvious from each definition that the means $K_p(a, b)$, $D_p(a, b)$ and $N_p(a, b)$ satisfy the properties (i)-(iv).

For the mean $M_p(a, b)$, considering (1.4), R. Bhatia and R.-C. Li ([3], Theorems 2.4 and 2.5) showed that

$$M_0(a, b) \left(:= \lim_{p \rightarrow 0} M_p(a, b) \right) = \sqrt{ab}, \\ M_\infty(a, b) \left(:= \lim_{p \rightarrow \infty} M_p(a, b) \right) = \frac{2 \max\{a, b\}}{2 + \ln \frac{\max\{a, b\}}{\min\{a, b\}}},$$

and that

$$M_0(a, b) \leq M_p(a, b) \leq M_\infty(a, b). \quad (1.5)$$

The above fact (1.5) and inequalities already known then lead to the chain

$$M_0(a, b) \leq M_1(a, b) \leq M_2(a, b) \leq M_\infty(a, b). \quad (1.6)$$

Here the second inequality in (1.6) has been given, say, in [10]. R. Bhatia and R.-C. Li ([3]) have conjectured that $M_p(a, b)$ for fixed a and b is an increasing function of p .

In this paper, we show monotonicity of $K_p(a, b)$, $D_p(a, b)$ and $N_p(a, b)$ with respect to the parameter p . And we also investigate relations among the above four interpolating families of means. Some facts are directly obtained by calculating Taylor's expansion of each mean.

2. Monotonicity of interpolating families of means

First, as for $N_p(a, b)$:

Lemma 2.1 (cf. [7], Theorem 2.1). *$N_p(a, b)$ is an increasing function of p ($-\infty < p < \infty$) with $a, b > 0$. I.e., if $p \leq q$, then $N_p(a, b) \leq N_q(a, b)$.*

Let $\Phi(p) := \Phi_p(a, b; t) = ((1-t)a^p + tb^p)^{1/p}$ for $t \in [0, 1]$. Then as a remark, we can, similarly as $N_p(a, b)$, show that $\Phi(p)$ is an increasing function of p .

For $K_p(a, b)$ we have:

Proposition 2.2. *$K_p(a, b)$ is an increasing function of p ($-\infty < p < \infty$) with $a, b > 0$.*

Proof. If $p \leq q$, $pq \neq 0$, then $\{(1-t)a^p + tb^p\}^{1/p} \leq \{(1-t)a^q + tb^q\}^{1/q}$ by the remark after Lemma 2.1. Hence from

$$\int_0^1 \frac{dt}{\{(1-t)a^p + tb^p\}^{1/p}} \geq \int_0^1 \frac{dt}{\{(1-t)a^q + tb^q\}^{1/q}},$$

the inequality $\frac{1}{K_p(a, b)} \geq \frac{1}{K_q(a, b)}$ holds, therefore $K_p(a, b) \leq K_q(a, b)$. The same inequality is also obtained for $p = 0$ or $q = 0$. \square

From the inequalities $K_{-1}(a, b) \leq K_0(a, b) \leq K_{1/2}(a, b) \leq K_1(a, b) \leq K_2(a, b)$, we have:

Corollary 2.3. For $a, b > 0, a \neq b$,

$$\frac{2ab}{a+b} < ab \frac{\ln b - \ln a}{b-a} < \sqrt{ab} < L(a, b) \left(= \frac{b-a}{\ln b - \ln a} \right) < \frac{a+b}{2}.$$

As a property of a convex (concave) function we know:

Proposition 2.4. If $\Phi(x)$ is a convex (concave) function, then, for a continuous function $f(t) \geq 0$ on $[0, 1]$,

$$\int_0^1 \Phi(f(t)) dt \geq (\leq) \Phi \left(\int_0^1 f(t) dt \right). \quad (2.1)$$

In the above (2.1), put $\Phi(x) = x^p$ for $p \geq 1$. Then $\Phi(x)$ is convex, so that we obtain the following inequality:

$$\int_0^1 f(t)^p dt \geq \left(\int_0^1 f(t) dt \right)^p. \quad (2.2)$$

Further, if $0 < p \leq q$, then put $q/p = p_1 \geq 1$. By (2.2),

$$\int_0^1 f(t)^{p_1} dt \geq \left(\int_0^1 f(t) dt \right)^{p_1}.$$

Replacing $f(t)$ by $f(t)^p$, we obtain

$$\int_0^1 f(t)^q dt \geq \left(\int_0^1 f(t)^p dt \right)^{p_1}.$$

Therefore

$$\left(\int_0^1 f(t)^q dt \right)^{1/q} \geq \left(\int_0^1 f(t)^p dt \right)^{1/p}. \quad (2.3)$$

If $f(t)$ is (strictly) positive and $p \leq q < 0$, then replace, in the above (2.3), $f(t)$ by $\frac{1}{f(t)}$ and p, q by $-q, -p$, respectively. We again obtain the same inequality. Now define $\Phi_p(f)$ by

$$\Phi_p(f) := \left(\int_0^1 f(t)^p dt \right)^{1/p} \quad \text{for } p \neq 0.$$

Moreover, define $\Phi_0(f)$ by

$$\Phi_0(f) = \lim_{p \rightarrow 0} \Phi_p(f) = \exp \left(\int_0^1 \ln f(t) dt \right).$$

Then we obtain the inequality (2.3) for $p = 0$ or $q = 0$. Now we have:

Proposition 2.5. *If $f(t)$ is a positive continuous function on $[0, 1]$, then $\Phi_p(f)$ is an increasing function of p ($-\infty < p < \infty$).*

Putting $f(t) = (1 - t)a + tb$, we have:

Corollary 2.6. *$D_p(a, b)$ is an increasing function of p ($-\infty < p < \infty$) with $a, b > 0$.*

3. Order relations among the four interpolating families of means

Now we prepare useful lemmas related to the order between $N_p(a, b)$ and $D_p(a, b)$, and that between $M_p(a, b)$ and $K_p(a, b)$.

First the following fact can be obtained from [9], Proposition 4.2:

Lemma 3.1. *Let $a, b > 0$ and $a \neq b$. Then*

- (i) $N_p(a, b) < D_p(a, b)$ for $0 \leq p < 1$,
- (ii) $N_1(a, b) = D_1(a, b) (= \frac{a+b}{2})$,
- (iii) $N_p(a, b) > D_p(a, b)$ for $p > 1$.

Lemma 3.2 ([3], Theorem 3.1). *Let $a, b > 0$ and $a \neq b$. Then*

- (i) $M_p(a, b) > K_p(a, b)$ for $0 \leq p < 1$,
- (ii) $M_1(a, b) = K_1(a, b) (= L(a, b))$,
- (iii) $M_p(a, b) < K_p(a, b)$ for $p > 1$.

Based on the above facts, we first have order relations among the four interpolating families of means with respect to the parameter p with $0 \leq p \leq 1$.

Proposition 3.3. *Let $a, b > 0$ and $a \neq b$. Then*

- (i) $K_0(a, b) < M_0(a, b) = N_0(a, b) < D_0(a, b)$,
- (ii) $K_p(a, b) < M_p(a, b) < N_p(a, b) < D_p(a, b)$ for $0 < p < 1$,
- (iii) $K_1(a, b) = M_1(a, b) < N_1(a, b) = D_1(a, b)$.

Proof. For (i), we can easily see that

$$\begin{aligned} K_0(a, b) &= ab \frac{\ln b - \ln a}{b - a} < K_{1/2}(a, b) = \sqrt{ab} = M_0(a, b) = N_0(a, b) \\ &= D_{-2}(a, b) < D_0(a, b) = \frac{1}{e} \left(a^a b^{-b} \right)^{\frac{1}{a-b}}. \end{aligned}$$

For (ii), the second inequality $M_p(a, b) < N_p(a, b) = \left(\frac{a^p + b^p}{2} \right)^{1/p}$ has been given by Theorem 2.1 in [3], $N_p(a, b) < D_p(a, b)$ by Lemma 3.1 (i), and that $K_p(a, b) < M_p(a, b)$ by Lemma 3.2.

For (iii), we can easily see

$$K_1(a, b) = M_1(a, b) = \frac{b - a}{\ln b - \ln a} < N_1(a, b) = D_1(a, b) = \frac{a + b}{2}. \quad \square$$

As for the order relations among $M_p(a, b)$, $K_p(a, b)$, $D_p(a, b)$ and $N_p(a, b)$ for $p > 1, p \neq 3$, though the result is restricted to a neighbourhood of $b/a = 1$, we have:

Proposition 3.4. *The following inequalities (i) and (ii) hold if $0 < |b/a - 1| < \varepsilon$ with a sufficiently small number $\varepsilon > 0$.*

- (i) $M_p(a, b) < K_p(a, b) < D_p(a, b) < N_p(a, b)$ for $1 < p < 3$,
- (ii) $M_p(a, b) < D_p(a, b) < K_p(a, b) < N_p(a, b)$ for $p > 3$.

To prove this proposition, we prepare the next lemma for $M_p(a, b)$ ($p > 0$) with $a = 1$ and $b = x$.

Lemma 3.5. *Applying Taylor's expansion to the mean $M_p(1, x)$, we have*

$$M_p(1, x) = 1 + \frac{1}{2}(x-1) - \frac{1}{4(p+2)}(x-1)^2 + o[x-1]^3, \quad (3.1)$$

where $0 \leq o[x-1]^3 \leq c[x-1]^3$ for some constant $c > 0$.

Before the proof of this lemma we state well-known formulae related to the Beta and the Gamma functions:

$$B(s, t) = \frac{\Gamma(s)\Gamma(t)}{\Gamma(s+t)}, \quad \Gamma(z) = (z-1)\Gamma(z-1) \quad (z > 1).$$

Proof of Lemma 3.5. By Theorem 2.1 in [3], we have

$$\frac{1}{M_p(1, x)} = \frac{\int_0^1 \frac{t^{\frac{1}{p}-1}(1-t)^{\frac{1}{p}-1}}{(1-t+xt)^{\frac{1}{p}}} dt}{\int_0^1 t^{\frac{1}{p}-1}(1-t)^{\frac{1}{p}-1} dt}.$$

From the definition of the Beta function, we have

$$\int_0^1 t^{\frac{1}{p}-1}(1-t)^{\frac{1}{p}-1} dt = B\left(\frac{1}{p}, \frac{1}{p}\right).$$

Hence

$$\begin{aligned} \frac{1}{M_p(1, x)} &= \frac{1}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \int_0^1 \frac{t^{\frac{1}{p}-1}(1-t)^{\frac{1}{p}-1}}{(1 - (1 - (1 + (x-1))^p)t)^{\frac{1}{p}}} dt \\ &= \frac{1}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \int_0^1 \frac{t^{\frac{1}{p}-1}(1-t)^{\frac{1}{p}-1}}{\left(1 - (1 - (1 + p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots))t\right)^{\frac{1}{p}}} dt \\ &= \frac{1}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \int_0^1 \frac{t^{\frac{1}{p}-1}(1-t)^{\frac{1}{p}-1}}{\left(1 + \left(p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots\right)t\right)^{\frac{1}{p}}} dt \\ &= \frac{1}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \int_0^1 t^{\frac{1}{p}-1}(1-t)^{\frac{1}{p}-1} \\ &\quad \times \left(1 + \left(p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots\right)t\right)^{-\frac{1}{p}} dt \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \int_0^1 t^{\frac{1}{p}-1} (1-t)^{\frac{1}{p}-1} \\
&\quad \times \left(1 - \frac{1}{p} \cdot \left(p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots\right) t \right. \\
&\quad \left. + \frac{1}{2} \cdot \frac{1}{p} \cdot \left(\frac{1}{p} + 1\right) \left(p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots\right)^2 t^2 + \dots\right) dt \\
&= \frac{1}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \left(B\left(\frac{1}{p}, \frac{1}{p}\right) - \frac{1}{p} \left(p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots\right) \right. \\
&\quad \times \int_0^1 t^{\left(\frac{1}{p}+1\right)-1} (1-t)^{\frac{1}{p}-1} dt + \frac{1}{2} \cdot \frac{1}{p} \cdot \left(\frac{1}{p} + 1\right) \\
&\quad \times \left(p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots\right)^2 \int_0^1 t^{\left(\frac{1}{p}+2\right)-1} (1-t)^{\frac{1}{p}-1} dt - \dots \left. \right) \\
&= 1 - \frac{1}{p} \frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \left(p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots\right) \\
&\quad + \frac{1}{2} \cdot \frac{1}{p} \cdot \frac{1+p}{p} \cdot \frac{B\left(\frac{1}{p} + 2, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \left(p(x-1) + \frac{p(p-1)(x-1)^2}{2} + \dots\right)^2 - \dots \\
&= 1 - \frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} (x-1) \\
&\quad - \left(\frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right) p - 1}{B\left(\frac{1}{p}, \frac{1}{p}\right) 2} - \frac{1+p}{2} \frac{B\left(\frac{1}{p} + 2, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \right) (x-1)^2 - \dots .
\end{aligned}$$

Now if we put

$$\begin{aligned}
X(p) &= -\frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} (x-1) \\
&\quad - \left(\frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right) p - 1}{B\left(\frac{1}{p}, \frac{1}{p}\right) 2} - \frac{1+p}{2} \frac{B\left(\frac{1}{p} + 2, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \right) (x-1)^2 - \dots ,
\end{aligned}$$

then since $\frac{1}{M_p(1,x)} = 1 + X(p)$, we have

$$M_p(1, x) = (1 + X(p))^{-1} = 1 - X(p) + X(p)^2 - \dots$$

$$\begin{aligned}
&= 1 + \frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)}(x-1) \\
&\quad + \left(\frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \frac{p-1}{2} - \frac{p+1}{2} \frac{B\left(\frac{1}{p} + 2, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \right) \\
&\quad \times (x-1)^2 + \dots + \left(\frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \right)^2 (x-1)^2 + o[x-1]^3.
\end{aligned}$$

Put $\phi(p) = \frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)}$ and

$$\psi(p) = \left(\frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \frac{p-1}{2} - \frac{p+1}{2} \frac{B\left(\frac{1}{p} + 2, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \right) + \left(\frac{B\left(\frac{1}{p} + 1, \frac{1}{p}\right)}{B\left(\frac{1}{p}, \frac{1}{p}\right)} \right)^2.$$

Then

$$M_p(1, x) = 1 + \phi(p)(x-1) + \psi(p)(x-1)^2 + o[x-1]^3.$$

Now using the formulae between the Beta and the Gamma functions, we can show

$$\begin{aligned}
\phi(p) &= \frac{\Gamma\left(\frac{1}{p} + 1\right) \Gamma\left(\frac{2}{p}\right)}{\Gamma\left(\frac{1}{p}\right) \Gamma\left(\frac{2}{p} + 1\right)} = \frac{1}{2} \quad \text{and} \\
\psi(p) &= \frac{\Gamma\left(\frac{1}{p} + 1\right) \Gamma\left(\frac{2}{p}\right)}{\Gamma\left(\frac{1}{p}\right) \Gamma\left(\frac{2}{p} + 1\right)} \frac{p-1}{2} - \frac{p+1}{2} \frac{\Gamma\left(\frac{1}{p} + 2\right) \Gamma\left(\frac{2}{p}\right)}{\Gamma\left(\frac{1}{p}\right) \Gamma\left(\frac{2}{p} + 2\right)} \\
&\quad + \left(\frac{\Gamma\left(\frac{1}{p} + 1\right) \Gamma\left(\frac{2}{p}\right)}{\Gamma\left(\frac{1}{p}\right) \Gamma\left(\frac{2}{p} + 1\right)} \right)^2 \\
&= \frac{1}{2} \cdot \frac{p-1}{2} - \frac{p}{2} \cdot \frac{p+1}{p} \cdot \frac{p+1}{2p+4} + \left(\frac{1}{2}\right)^2 = -\frac{1}{4(p+2)}.
\end{aligned}$$

Hence we have the desired Taylor's expansion of $M_p(1, x)$. \square

Proof of Proposition 3.4. For $p \geq 1$, to compare the four means $M_p(a, b)$, $K_p(a, b)$, $D_p(a, b)$ and $N_p(a, b)$, we can take $a = 1$ and $b = x$

without loss of generality. First from (3.1) in Lemma 3.5, we have

$$M_p(1, x) = 1 + \frac{1}{2}(x-1) - \frac{1}{4(p+2)}(x-1)^2 + o[x-1]^3.$$

For the other means $K_p(1, x)$, $D_p(1, x)$ and $N_p(1, x)$, we can obtain

$$K_p(1, x) = 1 + \frac{1}{2}(x-1) + \frac{p-2}{12}(x-1)^2 + o[x-1]^3,$$

$$D_p(1, x) = 1 + \frac{1}{2}(x-1) + \frac{p-1}{24}(x-1)^2 + o[x-1]^3,$$

and

$$N_p(1, x) = 1 + \frac{1}{2}(x-1) + \frac{p-1}{8}(x-1)^2 + o[x-1]^3.$$

Now for (i), if $\frac{p-2}{12} < \frac{p-1}{24}$, that is, $p < 3$ then the inequality $K_p(1, x) < D_p(1, x)$ holds for x such that $0 < |x-1| < \varepsilon$, with a sufficiently small $\varepsilon > 0$. The other inequalities are obvious from Lemmas 3.1 and 3.2. And also, for the first inequality of (ii), it is clear that $-\frac{1}{4(p+2)} < \frac{p-1}{24}$ for $p > -2$. Therefore the first inequality of (ii) holds for $p > 3$. Furthermore from Lemmas 3.1 and 3.2, we obtain the other inequalities of (ii). \square

Remark 3.6. The inequality $K_3(a, b) > D_3(a, b)$ holds for $a, b > 0, a \neq b$. Hence *Proposition 3.4 (ii)* is also valid for $p = 3$. For this, it suffices to show that $K_3(1, x) > D_3(1, x)$ holds for any $x > 0, x \neq 1$: Since

$$K_3(1, x) = \frac{2}{3} \cdot \frac{(x^2 + x + 1)}{(x + 1)} \text{ and } D_3(1, x) = \left\{ \frac{(x + 1)(x^2 + 1)}{4} \right\}^{1/3},$$

we see

$$K_3(1, x)^3 - D_3(1, x)^3 = \frac{1}{108(x+1)^3} \{32(x^2 + x + 1)^3 - 27(x+1)^4(x^2 + 1)\}.$$

Now we have to prove $f(x) := 32(x^2 + x + 1)^3 - 27(x+1)^4(x^2 + 1) > 0$. If we put $u = (x+1)^2$ and $v = x^2 + 1$, then from $x^2 + x + 1 = \frac{u+v}{2}$ and $1 < \frac{u}{v} < 2$, we obtain, putting $t = \frac{u}{v}$, for $1 < t < 2$,

$$f(x) = 32 \left(\frac{u+v}{2} \right)^3 - 27u^2v = v^3(4t^3 - 15t^2 + 12t + 4) = v^3(4t+1)(t-2)^2 > 0.$$

Remark 3.7. Related to Proposition 3.4, we can prove that if $0 \leq p \leq 2$, then $D_p(a, b) \geq K_p(a, b)$ for $a, b > 0$. The proof is as follows:

First for $0 \leq p \leq 1$, $D_p(a, b) \geq K_p(a, b)$ by Proposition 3.3. Next for $1 \leq p \leq 2$, since $0 \leq p - 1 \leq 1$, we have, by concavity of $x \mapsto x^{p-1}$,

$$(1-t)a^{p-1} + tb^{p-1} \leq \{(1-t)a + tb\}^{p-1}.$$

Based on the above inequality, we obtain $K_p(a, b) \leq D_p(a, b)$ for $1 \leq p \leq 2$, by the following inequalities,

$$\begin{aligned} \int_0^1 \{(1-t)a^{p-1} + tb^{p-1}\}^{\frac{1}{p-1}} dt \\ \leq \int_0^1 \{(1-t)a + tb\} dt \leq \left[\int_0^1 \{(1-t)a + tb\}^p dt \right]^{\frac{1}{p}}. \end{aligned}$$

□

Remark 3.8. In [9], by using convexity of $X \mapsto X^{-1}$ for positive matrices X , the following inequality

$$K_p(A, B) \leq K_{p+1}(A, B)$$

was shown for all positive matrices A, B and all real numbers p . Moreover the functions $K_p(1, x)$ was shown to be operator monotone for $-1 \leq p \leq 2$ ([6], Proposition 4.2). For the function $D_{p-1}(1, x) = \left(\frac{x^p - 1}{p(x-1)} \right)^{\frac{1}{p-1}}$, it is known to be matrix monotone if $-2 \leq p \leq 2$ ([1], Theorem 3). For the function $N_p(1, x) = \left(\frac{1+x^p}{2} \right)^{1/p}$, it is known to be matrix monotone if (and only if) $-1 \leq p \leq 1$ ([1], Theorem 4).

Remark 3.9. A hypergeometric function ${}_2F_1(\alpha, \beta, \gamma; z)$ with parameters α, β, γ is defined by

$${}_2F_1(\alpha, \beta, \gamma; z) = 1 + \sum_{k=1}^{\infty} \frac{(\alpha)_k (\beta)_k}{(\gamma)_k (1)_k} z^k,$$

where $(\lambda)_k = \prod_{i=1}^k (\lambda + i - 1)$.

In [3], R. Bhatia and R.-C. Li showed the following expression with respect to $M_p(a, b)$ (for $a, b, p > 0$):

$$\frac{1}{M_p(a, b)} = (\max\{a, b\})^{-1} \left[1 + \sum_{k=1}^{\infty} \frac{\prod_{i=0}^{k-1} (\frac{1}{p} + i)^2}{\prod_{i=0}^{k-1} (\frac{2}{p} + i) \cdot k!} \left\{ 1 - \left(\frac{\min\{a, b\}}{\max\{a, b\}} \right)^p \right\}^k \right].$$

From this fact we obtain:

$$\begin{aligned} \frac{1}{M_p(a, b)} &= (\max\{a, b\})^{-1} \left[1 + \sum_{k=1}^{\infty} \frac{\left(\frac{1}{p}\right)_k \left(\frac{1}{p}\right)_k}{\left(\frac{2}{p}\right)_k (1)_k} \left\{ 1 - \left(\frac{\min\{a, b\}}{\max\{a, b\}} \right)^p \right\}^k \right] \\ &= (\max\{a, b\})^{-1} {}_2F_1 \left(\frac{1}{p}, \frac{1}{p}, \frac{2}{p}; \left(1 - \frac{\min\{a, b\}}{\max\{a, b\}} \right)^2 \right). \end{aligned}$$

In particular, if $p = 2$, then we have

$$\frac{1}{AG(a, b)} = (\max\{a, b\})^{-1} {}_2F_1 \left(\frac{1}{2}, \frac{1}{2}, 1; \left(1 - \frac{\min\{a, b\}}{\max\{a, b\}} \right)^2 \right).$$

Acknowledgement. The author would like to thank Emeritus Professor S. Izumino for valuable suggestions.

References

- [1] A. BESENYEI and D. PETZ, *Completely positive mappings and mean matrices*, Linear Algebra Appl., 435 (2011), 984-997.
- [2] B. C. CARLSON, *Some inequalities for hypergeometric functions*, Proc. Amer. Math. Soc., 17 (1) (1966), 32-39.
- [3] R. BHATIA and R.-C. LI, *An interpolating family of means*, The univ. of Texas Arlington, Mathematics preprint series, Technical Report 2011-02.
- [4] J. M. BORWEIN and P. B. BORWEIN, *Pi and the AGM*, Wiley, 1987.
- [5] J.I. FUJII, *Interpolationality for symmetric operator means*, Sci. Math. Japon., 75, No.3 (2012), 267-274.

- [6] F. HIAI and H. KOSAKI, Means of matrices and comparison of their norms, *Indiana Univ. Math. J.*, 48(1999), 899-936.
- [7] S. IZUMINO, *A Study on the Calculus Material II -On some Theorem related to Inequalities -*, Faculty of Education, Toyama Univ., 55 (2001), 17-24 (in Japanese).
- [8] F. KUBO, and T. ANDO, *Means of positive linear operators*, *Math. Ann.*, 246 (1980), 205-224.
- [9] M. RAISSOULI, *United explicit form for a game of monotone and chaotic matrix means*, *International Electronic Journal of Pure and Applied Math.*, Vol.1 No. 4 (2010), 475-493.
- [10] M. K. VAMANAMURTHY AND M.VUORINEN, *Inequalities for means*, *J. Math. Anal. and Appl.*, 183 (1994), 155-166.

Toyama National College of Technology
13, Hongo-machi, Toyama, 939-8630
Japan
email: n-nakamu@nc-toyama.ac.jp

(Received October 16, 2012)